 Ans. 1:

1. Read partition table at LBA =0 (MBR)

2. Read 16 bytes (Leave the first 446 byte i.e code part and read the data part)
3. Find relative address of boot record. (This will be second last Dword  i.e. from byte # 9-12.) and say it  “RelAddOfBootRecordInPT1”
4. Find count of total block in this partition. (This will be last dword i.e. from byte#13 -16) and say it  “TotalBlkInPT1”.

5. Now, 

a. StartingAddressOfPT2 =   TotalBlkInPT1 + RelAddOfBootRecordInPT1
6. Read first 16 bytes from starting address of partition table 2.

7. Read the byte No. 9-12 and 13-16 to get  ” RelAddOfBootRecordInPT2” and   “TotalBlkInPT2” respectively
a. StartingAddressOfPT3   =     StartingAddressOfPT2   +    TotalBlkInPT2 +                 RelAddOfBootRecordInPT2
Ans. 2:

1. Unsigned int  temp = 0 ;
2. Unsignedint   StartCylinderNo  = 0;
3. temp =  ThirdByte  ;
4. temp = temp << 2 ;      // shift bit # 6 & 7 in higher byte.
5. StartCylinderNo  =  FourthByte  ;
6.    *  (           (   (unsigned char *) (& StartCylinderNo)  )         +     1 )  =                    *  (          (  (unsigned char *) (& temp)      )                  +     1 )  ;
